FgArea: [0 ]
NC11 P3-10
2025-05-01 (Day 29)




o o o o o o o
o o o o o o

N o © © < N

— —



r o

800 -
600 -
400 -
200 -






1200 ~ o 1 VI vs Du
1000 -

800 ®

o®
600
°®
Y
400 A $
200 o ¢
2 °
T T T T
500 1000 1500 2000

DU




0. 60 -
0.55 -
0.50 -
0. 45 -
0. 40 -
0. 35 -
0.30 -
0. 25 -

25

20

15

10



T
25

20

15

10

120 -
100 -
80 -
60 -
40 -



1 (fgArea = NA)

T
—@— ECI*10%
—0— ECO

5000

4000 \

3000 /

2000




—@— PHI*10%

—0— PHO

7.5

7.0

6.5

6.0

5.9

25

20

15

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-10
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P3-10
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P3-10

RriE) | BRI (D) | EME (EA/K) | XK R
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08:00 152 70.0 (Z=| {Ri%@08:00 Bzl (RAMEESE)
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15:25 152 70.0 B 1Rige15:25 Bzh (REEESE)
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)
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P3-10_0, Day=27 (2025-04-29)
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